Individual Meet Results

PCA Div III 13-Jul-25 SC Meters

Location: Tawa Pool

Porirua City Aquatics [PCAWN]

Time	F/P/S	5	Event	Place	Points	Improv
Eliza Au (8) F	7					
1:03.42S		# 2	Female 9 & Under 50 Breast	5		-11.39
1:55.68S	F	# 14	Female 9 & Under 100 IM	3		
42.24S	F	# 44	Female 9 & Under 50 Free	2		-1.17
Alistair Bai (1	l1) M					
1:23.40S	-	# 29	Male 11-11 100 Back	1		-0.97
1:23.42S	F	# 37	Male 12 & Under 100 Fly	1		1.12
35.75S	F	# 59	Male 11-11 50 Fly	1		-0.93
39.31S	F	# 95	Male 11-11 50 Back	2		-1.47
Matthew Blea	ch (11) M					
1:44.698	F	# 71	Male 11-11 100 Free	6		5.39
2:16.87\$	F	# 83	Male 11-11 100 Breast	4		7.34
Indiana Clayto	on (9) F					
1:04.00S I		# 2	Female 9 & Under 50 Breast			
1:54.31S	F	# 26	Female 9 & Under 100 Back	5		
49.38S	F	# 44	Female 9 & Under 50 Free	7		-4.75
Levi Clayton ((7) F					
DQ		# 14	Female 9 & Under 100 IM			
2:23.36S I	00 F	# 26	Female 9 & Under 100 Back			
1:11.28S	-	# 44	Female 9 & Under 50 Free	8		2.72
Jackson Crawf	ford (13) M	(07)				
39.58S		# 9	Male 13-13 50 Breast	1		-2.33
1:15.22S		# 33	Male 13-13 100 Back	1		-2.44
1:23.68S		# 39	Male 13-13 100 Fly	1		
31.07S	F	# 51	Male 13-13 50 Free	1		0.86
1:08.62S	F	# 75	Male 13-13 100 Free	2		0.69
Hugo Guo (10)) M					
53.078	-	# 3	Male 10-10 50 Breast	3		-4.24
1:47.70S I		# 27	Male 10-10 100 Back			
41.76S	F	# 45	Male 10-10 50 Free	7		-0.60
1:33.16S	F	# 69	Male 10-10 100 Free	6		
1:50.00S	F	# 81	Male 10-10 100 Breast	3		
47.97S	F	# 93	Male 10-10 50 Back	3		-7.07
Nate Hall (12)) M					
48.385	_	# 7	Male 12-12 50 Breast	3		
36.65\$		# 49	Male 12-12 50 Free	2		-1.16
1:25.72\$		# 73	Male 12-12 100 Free	3		-3.40
1:54.12S		# 85	Male 12-12 100 Freast	2		-5.66
	-			_		

Individual Meet Results

PCA Div III 13-Jul-25 SC Meters

Location: Tawa Pool

Porirua City Aquatics [PCAWN]

Time	F/P/S	Event	Place	Points	Improv
Paxton Hammo	ond (10) M				
51.40S	F # 57	Male 10-10 50 Fly	4		-6.69
1:38.05S	F # 69	Male 10-10 100 Free	7		
DQ	F # 81	Male 10-10 100 Breast			
49.09S	F # 93	Male 10-10 50 Back	4		-3.38
Jessica Harris ((8) F				
1:00.20S	F # 2	Female 9 & Under 50 Breast	3		-1.54
1:51.25S	F # 26	Female 9 & Under 100 Back	3		-7.88
47.94S	F # 44	Female 9 & Under 50 Free	6		-2.75
1:47.21S	F # 68	Female 9 & Under 100 Free	4		-15.11
51.38S	F # 92	Female 9 & Under 50 Back	4		0.85
Charlotte Head	(12) F				
48.78S	F # 8	Female 12-12 50 Breast	4		-3.50
1:37.50S	F # 20	Female 12-12 100 IM	1		-5.71
1:35.16S	F # 32	Female 12-12 100 Back	6		-3.39
NS	F # 74	Female 12-12 100 Free			
Ella Head (11)	F				
DQ	F # 6	Female 11-11 50 Breast			
1:43.65S	F # 18	Female 11-11 100 IM	2		-4.20
1:40.18S	F # 30	Female 11-11 100 Back	2		-5.66
NS	F # 72	Female 11-11 100 Free			
Jordyn-Leigh Ja	cobs (9) F				
1:05.75\$	F # 2	Female 9 & Under 50 Breast	6		-1.90
1:52.00S	F # 26	Female 9 & Under 100 Back	4		-7.63
47.93S	F # 44	Female 9 & Under 50 Free	5		3.21
1:43.85S	F # 68	Female 9 & Under 100 Free	3		-9.63
55.15S	F # 92	Female 9 & Under 50 Back	5		4.78
Kai Jiang (9) M	1				
1:00.978	F # 1	Male 9 & Under 50 Breast	3		
1:51.128	F # 13	Male 9 & Under 100 IM	3		
Tai Lewis (12)	M (07)				
39.048	F # 61	Male 12-12 50 Fly	3		-4.61
1:17.27S	F # 73	Male 12-12 100 Free	2		-1.16
42.13S	F # 97	Male 12-12 50 Back	3		1.53
Luca McMaster					
1:28.40S	F # 71	Male 11-11 100 Free	4		1.38
1:52.12S	F # 83	Male 11-11 100 Free Male 11-11 100 Breast	3		-5.47
1.34.143	1' # 65	maic 11-11 100 Dicast	3		-3.47

Individual Meet Results

PCA Div III 13-Jul-25 SC Meters

Location: Tawa Pool

Porirua City Aquatics [PCAWN]

Time	F/P/S	Event	Place	Points	Improv
Sofia Nguyen (1	3) F (08)				
42.37S	F # 10	Female 13-13 50 Breast	1		-0.66
1:22.02S	F # 22	Female 13-13 100 IM	1		-0.68
31.71S	F # 52	Female 13-13 50 Free	1		-0.26
1:09.15S	F # 76	Female 13-13 100 Free	1		-2.75
Federika Shepel	eva (9) F				
1:39.85\$	F # 26	Female 9 & Under 100 Back	1		-7.48
1:42.18S	F # 80	Female 9 & Under 100 Breast	1	20	-7.82
45.15S	F # 92	Female 9 & Under 50 Back	1		-2.20
Kyle Sichampana	akhone (11) M				
57.88S DQ		Male 11-11 50 Fly			
1:37.47S	F # 71	Male 11-11 100 Free	5		-3.87
2:18.27\$	F # 83	Male 11-11 100 Breast	5		
54.02S	F # 95	Male 11-11 50 Back	6		
Jackson Smith (10) M				
55.97S	F # 3	Male 10-10 50 Breast	5		-2.17
1:41.15S	F # 15	Male 10-10 100 IM	5		
39.32S	F # 45	Male 10-10 50 Free	6		-2.30
1:28.34\$	F # 69	Male 10-10 100 Free	5		-6.83
2:01.198	F # 81	Male 10-10 100 Breast	6		-3.77
Maddy St Just (1	.5) F (09)				
42.56S	F # 12	Female 14 & Over 50 Breast	1		0.36
Lincoln Thomas	(11) M (06)				
DQ	F # 29	Male 11-11 100 Back			
32.37\$	F # 47	Male 11-11 50 Free	1		0.30
35.87S	F # 59	Male 11-11 50 Fly	2		-0.71
38.53\$	F # 95	Male 11-11 50 Back	1		0.18
Peixin Tian (11)) F				
49.00S	F # 6	Female 11-11 50 Breast	2		-0.72
1:32.218	F # 18	Female 11-11 100 IM	1		-3.20
1:32.87\$	F # 30	Female 11-11 100 Back	1		-5.46
34.32S	F # 48	Female 11-11 50 Free	2		0.83
42.10S	F # 60	Female 11-11 50 Fly	3		-2.38
1:17.66S	F # 72	Female 11-11 100 Free	3		-0.13
1:47.90S	F # 84	Female 11-11 100 Breast	2		0.35
Chao Wang (11)	M				
44.69S	F # 5	Male 11-11 50 Breast	2		1.56
1:18.71S	F # 17	Male 11-11 100 IM	1		-3.53

Individual Meet Results

PCA Div III 13-Jul-25 SC Meters

Location: Tawa Pool

Porirua City Aquatics [PCAWN]

Name	Time	F/P/S	Event	Place	Points	Improv						
1:46.89S F # 44 Female 9 & Under 100 IM 1 <td>Yujie Wang (9)</td> <td>F</td> <td></td> <td></td> <td></td> <td></td>	Yujie Wang (9)	F										
42.67S	56.50S	F # 2	Female 9 & Under 50 Breast	2		-0.21						
1.43.21S	1:46.89S	F # 14	Female 9 & Under 100 IM	1								
A 7.80	42.67S	F # 44	Female 9 & Under 50 Free	3		0.74						
Marenee Wang (11) V U U U U U U U U U	1:43.21S	F # 68	Female 9 & Under 100 Free	2								
43.59S	47.80S	F # 92	Female 9 & Under 50 Back	3		0.12						
1:20.59S	Lawrence Wang	(11) M (06)										
32.47S F # 47 Male 11-11 50 Free 3 0.27 37.40S F # 59 Male 11-11 50 Fly 3 0.20 11.168S F # 71 Male 11-11 100 Free 1 0.18 40.07S F # 71 Male 11-11 50 Back 4 0.18 Xi Wang (8) F F # 2 Female 9 & Under 50 Breast 1 1.49 DQ F # 38 Female 12 & Under 100 Fly 1.49 DQ F # 38 Female 12-12 100 Breast 2	43.59S	F # 5	Male 11-11 50 Breast	1		-0.27						
37.40S	1:20.59S	F # 17	Male 11-11 100 IM	2		-3.55						
1:11.68S F # 71 Male 11-11 100 Free 1 -0.18 40.07S F # 95 Male 11-11 50 Back 4 0.41 XI Wang (8) F 54.35S F # 2 Female 9 & Under 50 Breast 1 1.49 DQ F # 38 Female 12 & Under 100 Fly Elizabeth Yang (12) F 1:21.74S F # 32 Female 12-12 100 Back 2 -2.22 30.81S F # 35 Female 12-12 50 Free 1 -2.22 30.81S F # 30 Female 12-12 100 Free 1 -2.22 30.81S F # 30 Female 12-12 100 Free 1 -2.22 30.81S F # 38 Female 12-12 50 Breast 1 -4.22 39.15S F # 36 Female 12-12 50 Breast 1 -1.06 Associat	32.47S	F # 47	Male 11-11 50 Free	3		0.27						
40.075 F # 95 Male 1-1150 Back 4 0.41 Xi Wang (8) F 54.35S F # 2 Female 9 & Under 50 Breast 1 1.49 DQ F # 38 Female 12 & Under 100 Fly Elizabeth Yang (12) F 1:21.74S F # 32 Female 12-12 100 Back 2 .4.22 30.81S F # 50 Female 12-12 100 Free 1 .	37.40S	F # 59	Male 11-11 50 Fly	3		0.20						
Stivang (8) F # 2 Female 9 & Under 50 Breast 1 1.00 1.40	1:11.68S	F # 71	Male 11-11 100 Free	1		-0.18						
54.35S F # 2 Female 9 & Under 50 Breast 1 1.49 DQ F # 38 Female 12 & Under 100 Fly Elizabeth Yang (12) F 1:21.74S F # 32 Female 12-12 100 Back 2 4.22 30.81S F # 50 Female 12-12 50 Free 1 4.22 1:06.87S F # 74 Female 12-12 50 Free 1 4.92 Livide, 87S F # 8 Female 12-12 50 Breast 1 4.18 1:27.03S F # 86 Female 12-12 50 Breast 1 4.18 1:27.03S F # 86 Female 12-12 50 Breast 1 -19.68 35.03S F # 86 Female 12-12 50 Back 1 -10.68 Auron Zang (17) M (11) NS F # 15 Male 14 & Over 50 Back <td <="" colspan="6" td=""><td>40.07S</td><td>F # 95</td><td>Male 11-11 50 Back</td><td>4</td><td></td><td>0.41</td></td>	<td>40.07S</td> <td>F # 95</td> <td>Male 11-11 50 Back</td> <td>4</td> <td></td> <td>0.41</td>						40.07S	F # 95	Male 11-11 50 Back	4		0.41
54.35S F # 2 Female 9 & Under 50 Breast 1 1.49 DQ F # 38 Female 12 & Under 100 Fly Elizabeth Yang (12) F 1:21.74S F # 32 Female 12-12 100 Back 2 4.22 30.81S F # 50 Female 12-12 50 Free 1 4.22 1:06.87S F # 74 Female 12-12 50 Free 1 4.92 Kristen Young (12) F F # 8 Female 12-12 50 Breast 1 4.18 1:27.03S F # 86 Female 12-12 50 Breast 1 4.18 1:27.03S F # 86 Female 12-12 50 Back 1 -1.06 Asron Zang (17) M (11) NS F # 35 Male 14 & Over 50 Back Lucas Zhang (10) M NS F	Xi Wang (8) F											
Page		F # 2	Female 9 & Under 50 Breast	1		1.49						
1:21.74S F # 32 Female 12-12 100 Back 2 -4.22 30.81S F # 50 Female 12-12 50 Free 1 -1.02 1:06.87S F # 74 Female 12-12 100 Free 1 -4.92 Kristen Young (12) F 39.15S F # 8 Female 12-12 50 Breast 1 -4.18 1:27.03S F # 86 Female 12-12 100 Breast 1 -4.18 35.03S F # 98 Female 12-12 50 Back 1 -1.06 Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back NS F # 101 Male 14 & Over 50 Back Lucas Zhang (10) M NS F # 15 Male 10-10 100 IM 1:26.25S F # 67 Male 10-10 100 Free 2	DQ	F # 38	Female 12 & Under 100 Fly									
1:21.74S F # 32 Female 12-12 100 Back 2 -4.22 30.81S F # 50 Female 12-12 50 Free 1 -1.02 1:06.87S F # 74 Female 12-12 100 Free 1 -4.92 Kristen Young (12) F 39.15S F # 8 Female 12-12 50 Breast 1 -4.18 1:27.03S F # 86 Female 12-12 100 Breast 1 -4.18 35.03S F # 98 Female 12-12 50 Back 1 -1.06 Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back NS F # 101 Male 14 & Over 50 Back Lucas Zhang (10) M NS F # 15 Male 10-10 100 IM 1:26.25S F # 67 Male 10-10 100 Free 2	Elizabeth Yang (12) F										
1:06.87S F # 74 Female 12-12 100 Free 1		-	Female 12-12 100 Back	2		-4.22						
No. F # 10 Male 10-10 100 IM 11-20-20 Second 1 1-20-20 Sec	30.81S	F # 50	Female 12-12 50 Free	1		-1.02						
39.15S F # 8 Female 12-12 50 Breast 1 -4.18 1:27.03S F # 86 Female 12-12 100 Breast 1 -19.68 35.03S F # 98 Female 12-12 50 Back 1 -1.06 Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back NS F # 101 Male 14 & Over 50 Back Lucas Zhang (10) M 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 1:33.46S F # 67 Male 9 & Under 100 Free 2	1:06.87S	F # 74	Female 12-12 100 Free	1		-4.92						
39.15S F # 8 Female 12-12 50 Breast 1 -4.18 1:27.03S F # 86 Female 12-12 100 Breast 1 -19.68 35.03S F # 98 Female 12-12 50 Back 1 -1.06 Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back NS F # 101 Male 14 & Over 50 Back Lucas Zhang (10) M 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 1:33.46S F # 67 Male 9 & Under 100 Free 2	Kristen Young (1	12) F										
35.03S F # 98 Female 12-12 50 Back 1 -1.06 Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back			Female 12-12 50 Breast	1		-4.18						
Aaron Zang (17) M (11) NS F # 35 Male 14 & Over 100 Back NS F # 101 Male 14 & Over 50 Back Lucas Zhang (10) M NS F # 15 Male 10-10 100 IM 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 2	1:27.03S	F # 86	Female 12-12 100 Breast	1		-19.68						
NS F # 35 Male 14 & Over 100 Back	35.03S	F # 98	Female 12-12 50 Back	1		-1.06						
NS F #101 Male 14 & Over 50 Back	Aaron Zang (17)) M (11)										
Lucas Zhang (10) M NS F # 15 Male 10-10 100 IM 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 2 1:33.46S F # 67 Male 9 & Under 100 Free 2			Male 14 & Over 100 Back									
NS F # 15 Male 10-10 100 IM 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 1:33.46S F # 67 Male 9 & Under 100 Free 2	NS	F #101	Male 14 & Over 50 Back									
NS F # 15 Male 10-10 100 IM 1:26.25S F # 69 Male 10-10 100 Free 4 Aiden Zhou (7) M 1:33.46S F # 67 Male 9 & Under 100 Free 2	Lucas Zhang (10) M										
Aiden Zhou (7) M 1:33.46S F # 67 Male 9 & Under 100 Free 2		-	Male 10-10 100 IM									
1:33.46S F # 67 Male 9 & Under 100 Free 2	1:26.25S	F # 69	Male 10-10 100 Free	4								
1:33.46S F # 67 Male 9 & Under 100 Free 2	Aiden Zhou (7)	М										
54.59S DQ F # 91 Male 9 & Under 50 Back			Male 9 & Under 100 Free	2								
	54.59S DQ	F # 91	Male 9 & Under 50 Back									